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?2=1
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92-5
92-13
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52-13
92=-14
92-15
92-16
22-13
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X
150500.000
150562.745
150560.938
150562.723
150564.967
150579.201
150598.666
150610.669
150612.715
150613.218
150611.309
150562.745

X
150500.000
150562.745
150561.855
150563.815
150564.967
150579.201
150589.413
150590.449
150562.745

X
150500.000
150589.413
150592.515
150593.535
150590.449
150589.413
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- 39300.000
- 39398.831
“ 39396.948
- 39377.297
= 39375.352
- 39375.732
- 39376.613
-~ 39376.603
- 39378.404
- 39394.300
= 39396.386
- 39398.831
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- 39398.831
- 39397.904
- 39376.351
-~ 39375.352
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- 39398.831
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- 39300.000
- 39376.195
- 39376.335
- 39397.281
- 39397.436
- 39376.195
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(X=XD)*(YN=-1-YO)
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6022.563478
6080.86%9404
5021.754199
5967.953752
7T472.173512
8478.684097
8634.307145
8876.744072
10496.438700
6047.739570

73099.227929
2185.747771
1092.873885

6113.191505
6247.743760
4960.295417
5967.953752
6771.425316
6891.761555
6113.621820

43065.593125
1214.283566
607.141783

7049.180425
7139.994225
8798.969169
8712.045068

31700.188887
130.541998
65.270999
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(XN=1=X0)*(Y-YO0)
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6083.002260
4710.324586
47264303496
4920.080844
6067.8262153
7558.111598
8676.892276
10629.024500
10912.630148
11000.779779

75284.975700

6142.986480
4722.691105
4808.587880
4920.080844
6034.720195
8712.045068
8939.165119

45280.276691

6825.341355
8999.951715
2113.676260
6891.761555

31830.730885
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92-10
92~15
92-14
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92-12
92=11
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X
150500.000
150592.515
150598.666
150610.669
150612.715
150613.218
150611.309
150593.535
150592.515

X
150500.000
150560.938
150562.723
150563.815

- 150561.855
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Y
39300.000
39376.335
393764613
39376.603
39378.404
39394.300
39396.386
39397.281
393764335
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39396.948
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39376.351
39397.904
39396.948
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(X=X0)*{(YN=-1-Y0)
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7531.669110
8478.684097
8634.307145
8876.744072
10496.438700
9015.464510
8999.951715

62033.259349
799.495922
399.747961

(X=X0)*(YN=1=YD)
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6080.869404
4932.708055
4722.691105
5966.073952

21702.342516

41.408143
20.704071
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(XN=1=X0)* (Y=Y0)
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7087.851695
7558.111598
8676.892276

10629.024500
10912.630148
10828.2504829

7139.994225

62832.755271

4710.324586
4788.963773

6247.743760 .

5996.718540

21743.750659




